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A single phasedffiffimission line has two parallel conductors 3 metre apart, radius of each
conductor bq.m*\l cm. Calculate the capacitance of the line per km. Given that
eo = 8.854 * iTfutr P/m. (08 Marks)

q,d

ffi tor2

e{.(r 3
**wh "*.. *#sT, ,t1 . 5 vr4" 

r; ir , ' Fig.Q3(b) (08 Marks){ffi ^ ^b'

,".: 1r* oR
Derive the expressionWo,,sflrne to neutral capacitance for a 3 phase overhead line when the
conductors are sy_mrnptrically spaced. (12 Marks)

ffi$ffiffi

ffioot.-r d" @

Explaintheadvantag"'ofhigh*gffisionwith',ut{Utrbexpressions.(08Marks)
A transmission line has a span ofrot5O m between level sdffirts. The conductor has a cross
sectional arca of 2 cnt'. Thetffin in the conductor is 2$00 kg. If the specific gravity of the
conductor materials it 9r& gtnf,cm3 and wind pressg,S.g[d1.5 kg/m tengitr, calculate ih. rrg.
What is the vertical sag? ffi '" 

l;'r'-' (12 Marks)

-e' h*wY

d-$r# oR, .s

Defure: (i) ACP& *.di, CfeCSn (iii) SWinS efficiency (iv) Vibration damper (08 Marks)
Each line ofia $-flffiase system is suspendffi\ a string of 3 similar insulators. If the voltage
across theuli&"unit is 17.5 KV, calculatdtfie line to neutral voltage. Assume that the shunt. *; -'ilLh-"*iI 

- .*' - +L

ween each insulatoqa$d earth is 1/8m of the cafacitance of the insulator
the string etrrci$#ryw ,ffiry.", (12 Marks)

4 '811L " o":'.qiw E*l-- ^ ,56V"' J ,%j*"S,"

.** 
*o Modute-2 fl#3ffi" ;ik

Derive an expression for;ffifuinductance of a coffiUqtrirUue to internalffitl external flux.
/i \* " 'ry$,p fury * (12 Marks)

The three conductors bqft 3 phase line argffin{ed at the conless oT a triangle of side 2n1
2,5 m and 4.5 nL C,plculate the inductdgbe\er km of theJline when the conductors are2.5 m and 4.5 rq Cplculate the inductdgie$er km of thgJige when the conductors are
regularly transpffi The diameter of eryhlfunductor is l.2ffiry[Refer Fig.e3(b)]
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.l-&"Module-3 ,;$ary
5 a. Explain the nominal n methoa ror ortui"ing trre pffiirance calculation of medium

transmission line. Draw the corresponding vector di.qqfl4tm * (10 Marks)

b. A short 3g transmission line with an rnpedTce 
";|(#+.J8) 

o per phase has sending and

receiving end voltages of 120 KV and r rb rv *gkieetively for some receiving end load at a

p.f. of 0.9lagging. Determine: o '''i; ''
(i) Power output ,,&*,".** -.k- (r0 Marks)(i, Sending end power factor. Mq$, 

'-;,-s
":,$, ;

,t- OR $r t1" (rI(
fi$N lW

6 a. Develop the generalized.circuit cp,q s tor: 
*" -

(i) Short transmission line . d.T!q., 
'; . . ;" 

"/::\ ar^l:,,.. Ii-o,rcina -^-ioil*it-r'nethod-
(i) Short transmtssron lllle d**qk " Y 6W:U* (10 Marks)(ii; U"air* Iine using nominal.T;method'

b. Differentiate differentiyp.f.oftdV.rhead transmissio&lind (06 Marks)b. Differentiate different types'osdVerhead transmrsstoqimt. \uu lYr4rAv

c. write a short note on rirygti lffect. ,-,reS, 
(04 Marks)

f+=x, s" fu$*% "
Module-4 

".-d*'Y Module-4 . *'
7 a. Define corona. $ffi#." the factors;[t"h rt1p"$tcorona? (06 Marks)

b. Explain witfr rffi$e to coronat 
,-"lxPralrl wrtrl reruf Yrr' - fl".*',

(i) Critica-l.dpocriptive voltage ';"u'sl

(ii) vi (08 Marks)(iil visua.fknifucal voltage a$. \uo rvr4r^r'/'

i-ir"ffitffiu. of redricing corffipjfict in an overheaffiansmission line. (06 Marks)--e 
d&.ffi* ^, * ffi#''ed'. q$':P oR "n,.&Y tr

g a. Define grading of cables. Explain-inter sheath grT[3g\f cable. .,i * (08 Marks)

b. Derive an expiession for,therinsulation resistancq,pf'd single core cablel' (08 Marks)

c. Write the comparison Qeiieen ac and dc ca$le*, 1' (04 Marks)

-" li,

c. Write the comparison Qetl,ieen ac and dc cahle" "'
%-^# - --_ ,''t.h t; *

-* 
u'u* 

w- \o- "\'
,r Modiiiile-S :i
"-\-. .r , **r *' dY-rrha. Explain Radial'#h.ing main airtri6* @; 

- 
- (08 Marks)

;: fi;;;; Aitr:,b;."r00 metrqs,[oiig'ir uniformly lo4ded with 2 A"/metre' Resistance of

single wire i6,05o/km. If the 4*ttMIhor i:-td'lo6*i#:.Calculate:

g a. Explain Radiaf@-ing main distri

rinsle wire is 0.3 Oltm. If the disdi{butor is fed at one end. Calculate:

O THgry<iitage drop upto a'dfttance of 150 m pgflnfdeding point

(,il rffi*ximum volta-gdffioPl * P"tuS ffi'u' A :d
trl *ffi*xiirum ""ttrgdWqp: 

**'*p (12 Marks)''tu-S ffi'u ,, :d

4'+ u ";' 9&il1"
lct-+:--. *, W' Y"'-;*,\10 u.*funo"'

ffi Refiability*{ft-'-' (ii) Power qua1it16
riii\ Reliahi;lflt@ifls

u.*funo* r&. w- u,'''*,h

ffit,l Reliability*s fu o" 
*"'

-'-' (ii) Power qua1it16' io"*. (11) rower quau$&r .\"
arrr) Reliabfn*X.r6ids (08 Marks)

' b. n*rir"i" tldeth"ments of godfiql$tribution system. (08 Marks)

c. fxpUin tfleffiect of disconne$iori of neutral in a 3 phase 4 wire systems. (04 Marks)
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